
The Easter Bunny has 43 eggs in his basket. 15 fell out on the way to the ‘Great Egg Hunt’. How many does the Easter Bunny have now?

The Easter Bunny has 43 eggs in his basket. It then puts 28 more in his basket. How many does the Easter Bunny have now?

[bookmark: _GoBack]The Easter Bunny wants to put each of his eggs in a box, which cost 25p. It has 3 eggs. How much will it need to spend?

The Easter Bunny has 5 boxes that it needs to fill equally with his 40 eggs. How many eggs will go in each box? 

The Easter Bunny buys a new basket for £1.45 and an Easter card for 27p. It pays with a £2 coin. What change does it get?

The Easter Bunny starts off with 50 eggs in his basket. At the first house it drops off 27 eggs, and at the second house it drops off 15. How many eggs are in his basket now?
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The Easter Bunny has 43 eggs in is baske. 15 fel ot on
the way 1o the Great Egg Hunt. How many does fhe Easter
Bunny have o>

The Easter Bunny has 43 eggs n is basket Tt then puts 28
more i his baske?, How many does the Easter Bunry have.

The Easter Bunny wonts fo put each of his egas ina box,
which cost 25p. Tt has 3 eggs. How much wil 1 need o
spend

“The Easter Bunny has 5 boxes that it needs 1o fill qually
with is 40 eggs. How mary eggs will go in ach box>

The Easter Bunny buys anew basket for £145 and an
Easter card for 27p Tt peys with o £2 cain What chonge
docs it ger?

The Easter Bunny stars off with 50 eggs in s basket. AT
the first house 1 drops of 27 egs, andat the secand
Rouse it drops off 15, How many eggs are in his baske? now?
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